
LEITNERDESIGNS.COM  |  SALES@LEITNERDESIGNS.COM  |  949-395-3049

V1 | Page 1

HD awning bracket

LEITNER



 ASSEMBLY / INSTALLATION INSTRUCTIONS:

PART NUMBER:
00-HDAWN-1401

TOOLS REQUIRED

• 13mm socket
• 5mm allen
• 21/64 drill bit
• razor blade

INSTALLATION TIME

SKILL LEVEL

1= intermediate

        45-60 minutes
Basic knowledge of hand tools required

21 43

LEITNERDESIGNS.COM  |  SALES@LEITNERDESIGNS.COM  |  949-395-3049

V1 | Page 2

▼ HD awning hardware ▼

m8 X 25 T-bolt
(x6)

 

1032-m8 lock nut
(x12)

 

m8 x 20
(x6) 

 
 

1281-M8 X 14 
(x2)

 

traklok nut
(x2)

 
for use on alu-cab shadow awning only



V1 | Page 3

LAYOUT: ILLUSTRATION OF MOUNTING HOLES

• BELOW IS AN ILLUSTRATION OF mounting HOLES AND THERE Corresponding AWNINGS. we have supplied the hardware used 
on the alu-cab awning. all others should ship with there own hardware. 

ALU-CAB SHADDOW AWNING RHINO-RACK BATWING  AWNING

CVT PIONEER  AWNING
CVT SUMMIT AWNING
SMITTYBILT AWNING

ARB AWNING

23ZERO Peregrine 270  AWNING
23ZERO Peregrine 180  AWNING

OVS Nomadic Awning 180
OVS Nomadic Awning 270

darche eclipse 180 awning
darche eclipse 270 awning



V1 | Page 4

Assemble: t-bolts TO BRACKETS

• INSTALL THE BOLTS THROUGH THE BRACKET AND LOOSELY Attach THE m8 locknut. repeat for both brackets. 



V1 | Page 5

Assemble: bracket to awning

• all instructions below refer specifically to the alu-cab shadow awning. many other awnings will fit 
but it is beyond the scope of these installation instructions to go into detail on each one. 

• attach one bracket to the pivot point section of the awning using 4 M8 X 20 screws and M8 lock nuts. tighten to 16ft-lb 

V1 | Page 5

• NOTE: the awning cover has been removed in these images for clarity. you 
will need to use a razor blade to cut a hole in the location of the mounting 
holes so that the screws can pass through



V1 | Page 6

MEASURE: DISTANCE BETWEEN LOAD BARS 
•MAKE SURE THE LOAD BARS ARE AS FAR APART FROM Each other AS POSSIBLE ON THE RACK. 

•MEASURE THE CENTER TO CENTER DISTANCE BETWEEN THE FRONT AND REAR load BARS. FIG A 

•Attach the second awning bracket with 2 m8 x 20 screws to the holes that are the same distance or slightly closer 
together then the load bar dimension taken earlier. FIG B

•Alternatively you can drill holes in the awning that are exactly the same distance as the load bars.

•note: the mounting holes are spaced 3.9” (100mm) apart. Minimum distance is 43.2” and maximum is 
94.4”. fig b

CENTER TO CENTER 
DISTANCE OF LOAD BARS

FIG. A

43.2”

94.4”

FIG. b
• NOTE: the awning cover has been removed in these images for clarity. you 
will need to use a razor blade to cut a hole in the location of the mounting 
holes so that the screws can pass through



V1 | Page 7

attach: awning to rack
• This step requires two people. 

• remove load bar end caps.  ensure the rear load bar is loose and slides freely to take up any misalignment.

•lift the awning up and slide both awning brackets over the load bars and secure with t-bolts to 16ft-lb.

•hand tighten rear load bar knobs. 



V1 | Page 8

drill: Alu-cab “c-clamp” holes
• the alu-cab awning is supplied with a part called a “C-clamp” the function of this part is to secure 
the awning in the open position. in the instructions supplied by alu-cab they are mounted using  pop 
rivets. In our instructions we recommend you use our supplied m8 X 14 bolts and traklok nuts. 

• drill two 21/64 holes into the “c-clamp as shown. Fig a

•install the m8 x 14 and traklok fasteners as shown. fig b

.400”

.400”

21/64”

FIG. A

FIG. b



V1 | Page 9

finish: install clamp and strap. 
• the final installation will require you to drill a hole in the awning arm and attach the strap includ-
ed with the alu-cab awning. please refer to the alu-cab instructions before drilling.

• attach the “c-clamp to the top load bar

• drill hole in strap and awning arm and attach with the  4.8 X 15 Fender Rivet included with awning.



use guidelines
When using Leitner Designs carriers and accessories, the user must understand the precautions. 
The points listed below will assist you in using the rack system and will encourage safety.

•For quality fits and safety, use only the recommended rack or accessories. Do not assume a rack 
will fit, always check the current Fit Guide when obtaining a new vehicle. 
	
•The maximum load is not to be exceeded. (250# off road – 500# on road). However, this limit is 
always subordinate to the maximum load recommended by the manufacturer of the vehicle itself. 
It is always the lower maximum recommended load that applies. Max truck load = load carrier 
weight + any fitted carrier accessories + the weight of the load itself.

•high speed off road driving even with a light load can cause damage to the rack, accessories 
and  vehicle body. Damage caused by high speed driving and abuse is not covered under 
warranty.

•Make sure all knobs, bolts, screws, straps, and locks are firmly attached, tightened and locked 
before every trip. Knobs, bolts, screws, straps and locks must be periodically inspected for signs 
of wear, corrosion, and fatigue. Check your load at stops during the trip to ensure continued 
fastening security.

•Check local and state laws governing projection of objects beyond the perimeter of a vehicle. 
Be aware of the width and height of your cargo since low clearance branches, bridges, and 
parking garages can affect the load. All cargo will affect the vehicle’s driving behavior. Never 
drive with any lock, knob or rack in an open or unlocked position. All long loads such as, but 
not limited to, sailboards, surfboards, kayaks, canoes, and lumber must be tied down front and 
rear to the bumpers or tow hooks of the vehicle.

•All locks must be turned and moved periodically to ensure smooth operation. Use graphite or 
dry lubricant to help this. Leitner designs locks are designed to deter vandalism and theft but 
should not be considered theft proof. Remove valuable gear if your vehicle is unattended for an 
extended period. Place at least one key in the glove compartment.

•For safety to your vehicle and rack system, obey all posted speed limits and traffic cautions. 
Adapt your speed to the conditions of the road and the load being carried.

•Do not use Leitner Designs load carriers and accessories for purposes other than those 
for which they were designed. Do not exceed their carrying capacity. Failure to follow these 
guidelines or the product’s instructions will void the warranty.

V1 | Page 10



Warranty
Leitner Designs warrants product to be free from defects in material and workmanship, for 
terms specified below, provided there has been normal use and proper maintenance.  All remedies 
under this warranty are limited to the repair or replacement of any item found by the factory to 
be defective within the time period specified. If you have a warranty claim, first you must call our 
factory at the number below for instructions. You must retain proof of purchase and submit 
a copy with any items returned for warranty work.  Upon completion of warranty work, if any, 
we will return the repaired or replaced item or items to you freight prepaid.  Damage to our 
products caused by accidents, Fire, vandalism, negligence, mis-installation, misuse, Acts of God, 
or by defective parts not manufactured by us, is not covered under this warranty.

THE WARRANTY TIME PERIOD IS AS FOLLOWS: (2) TWO YEARS FROM DATE OF PURCHASE.

high speed off road driving even with a light load can cause damage to the rack, accessories 
and  vehicle body. Damage caused by high speed off road driving and abuse is not covered 
under warranty.

ANY IMPLIED WARRANTIES OF MERCHANTABILITY AND/OR FITNESS FOR A PARTICULAR PURPOSE CREATED 
HEREBY ARE LIMITED IN DURATION TO THE SAME DURATION AND SCOPE AS THE EXPRESS WRITTEN WARRANTY.  
OUR COMPANY SHALL NOT BE LIABLE FOR ANY INCIDENTAL OR CONSEQUENTIAL DAMAGE.

Some states do not allow limitations on how long an implied warranty lasts, or the exclusion or 
limitation of incidental or consequential damages, so the above limitations or exclusions may not 
apply to you.  This warranty gives you specific legal rights, and you may also have other rights 
that vary from state to state.

FOR WARRANTY ISSUES WITH THIS PRODUCT PLEASE CALL LEITNER DESIGNS CUSTOMER SERVICE 949-395-
3049 or email us at Sales@leitnerdesigns.com

V1 | Page 11


